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BECC-111 : INDIAN ECONOMY–I 

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from each Section as 

per instructions. 

Section—A 

Note : Answer any two questions from this 

Section in about 600 words each. 

2×20=40 

1. Analyse the two major phases of 

development paths pursued in India since 

independence.  
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2. Discuss the role of infrastructure in 

economic development. 

3. Present an account of ‘deficits of 

development’ in India in a comparative 

profile with other economies. 

4. Discuss the major reasons behind Structural 

Adjustment Programmes in India. 

Section—B 

Note : Answer any four questions from this 

Section in about 350 words each. 

4×12=48 

5. Outline the state of Indian industry at the 

time of independence. 

6. Bring out the major changes in structural 

composition of GDP in India in recent years. 
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7. Define the concepts of ‘Density of 

Population’ and ‘Growth of Population’. 

8. What has been the extent of expansion in 

higher education in India ? 

9. Identify the factors contributing to 

increasing health expenditure in India. 

10. Outline with illustration the concept of 

‘Poverty Gap Index (PGI)’. 

11. What is meant by ‘Informal Economy’ ? 

State the recent measures initiated for the  

social security of unorganised sector workers 

in India. 

Section—C 

Note : Write short notes on any two of the 

following in about 100-150 words  

each. 2×6=12 

12. (a) State vs. Market Debate 
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(b) Trade-GDP Ratio 

(c) Population Pyramid 

(d) Human Development Index (HDI) 
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ch- ,- (vkWulZ) vFkZ'kkò 

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&111 % Hkkjrh; vFkZO;oLFkk&I 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd Hkkx esa ls iz'ukas ds mÙkj funsZ'kkuqlkj nhft,A 

 Hkkxµd  

uksV % bl Hkkx esa ls fdUgha nks iz'ukas ds mÙkj yxHkx 600 'kCnksa 

(izR;sd) esa nhft,A 2×20=40 

1- Lora=rk ds ckn ls Hkkjr esa viuk, x, fodkl iFk ds nks 

izeq[k pj.kksa dk fo'ys"k.k dhft,A 
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2- vk£Fkd fodkl eas vk/kkfjd lajpuk (volajpuk) dh 

Hkwfedk dh ppkZ dhft,A 

3- vU; vFkZO;oLFkkvksa ds lkFk rqyukRed <k¡ps esa Hkkjr esa 

fodkl dh dfe;ksa dk ys[kk izLrqr dhft,A 

4- Hkkjr esa lajpukRed lek;kstu dk;ZØeksa ds ihNs izeq[k 

dkj.kksa dh ppkZ dhft,A 

 Hkkxµ[k  

uksV % bl Hkkx esa ls fdUgha pkj iz'ukas ds mÙkj yxHkx 350 'kCnksa 

(izR;sd) esa nhft,A 4×12=48 

5- Lora=rk ds le; Hkkjrh; m|ksx dh fLFkfr dh :ijs[kk 

izLrqr dhft,A 
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6- gky ds o"kks± esa Hkkjr esa GDP dh lajpukRed jpuk esa 

egRoiw.kZ ifjorZuksa dks Li"V dhft,A 

7- ^tula[;k ds ?kuRo* vkSj ^tula[;k dh o`f¼* dh 

vo/kkj.kkvksa dks ifjHkkf"kr dhft,A 

8- Hkkjr esa mPp f'k{kk esa foLrkj dh D;k lhek jgh  

gS \ 

9- Hkkjr esa LokLF; O;; dks c<+kus esa ;ksxnku djus okys 

dkjdksa dh igpku dhft,A 

10- ^fu/kZurk varjky lwpdkad (PGI)’ dh vo/kkj.kk dks 

mnkgj.k lfgr Li"V dhft,A 

11- ^vukSipkfjd vFkZO;oLFkk* ls D;k vfHkizk; gS \ Hkkjr esa 

vlaxfBr {ks= ds Jfedksa dh lkekftd lqj{kk ds fy, 

fd, x, gky ds mik;ksa dks crkb,A 
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Hkkxµx 

uksV %  fuEufyf[kr eas ls fdUgha nks ij yxHkx 100&150 'kCnksa 

eas laf{kIr fVIif.k;k¡ fyf[k, % 2”612 

12- (v) jkT; cuke cktkj okn&fookn 

(c) O;kikj&th-Mh-ih- vuqikr 

(l) tula[;k fijkfeM 

(n) ekuo fodkl lwpdkad 

× × × × × 

 

 

 

 

 

 

 

 

 


